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= 160,000 0 160,000
Jl 20,270 13,960 6,310
< 35,000 3,000 32,000
a ,906,087 1,358,042 548,045
sd 2el ,202,223 940, 368 261,855
S 15,000 0 15,000
= , 187,223 940, 368 246,855
AtSH= A 169,459 300,604 A131,145
101 Q124 H] 41,899 20,604 21,295
04 JIAtHZ22XHSE* 41,899 20,604 21,295
O&AMzE ZEX 22 & FXUH2E
60,2403 x50 7 21,084 0 21,084
OuTHEE E 41,484,000 *1% 415 204 21
201 fEt2E | 84,200 0 84,200
01 AF22t2l bl 84,200 0 84,200
OdAE 22X =4 8,000 *150H « 14 16,800 0 16,800
OdM=HM dltz4 8,000 0 8,000
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OFME & F=X& dHl Mz 2¢ 6,000 0 6,000
OFMIEZZIY 298 NSNS 7Y 3,000 0 3,000
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401 AIEHIZ 2 I 40,000 0 40,000
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01 At 22l 275,424 177,424 98,000
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O=MTE DS ¥ IV M2ts 7Y
200,000%! * 154 3,000 0 3,000
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= 160,000 0 160,000
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— DHY ABDS0 ¥ DTS MR 19,800 0 19,800
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2 25,500 0 25,500
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2 9,500 0 9,500
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2 134,500 0 134,500
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01 A&l 159,621 0 159,621
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01 A&l 1,096,054 796,054 300,000
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X 656,054 656,054 0
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< 7,99 9,747 A1,751
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01 Al&H| 10,000 0 10,000
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2 9,226 0 9,226
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2EZAFALY 671,879 500,890 170,989
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= 9,226 0 9,226
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201 £B-2dH| 18,929 17,832 1,097
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OUAMBHSDA(IVGNBTE) EXNAS
= 1,097 0 1,097
401 AIEHI L 201 116,922 104,922 12,000
01 A& Hl 116,922 104,922 12,000
OZAN3SE RXNE=> 312,500 * 160 2 43 20,000 8,000 12,000
HEHSSH 2 157,025 81,825 75,200
201 ¢4l 6,100 4,900 1,200
01 At 2t 2l 3,600 2,400 1,200
Ozt 2288 ¢ 150,000 2=« 12& 3,600 2,400 1,200
401 AIEHI L 201 140,215 66,215 74,000
01 A& HI 140,215 66,215 74,000
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ot ol ZE stEa 2el 8,077 6,877 1,200
201 et 4,100 2,900 1,200
02 2324l 2,900 1,700 1,200
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SHMALE e-2Le|El AAZ XA Y 2t 129,968 0 129,968

101 1Al 42,168 0 42,168
04 DIt Z22HEE =+ 42,168 0 42,168
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Ostdiz= & 24 2Y

60,2403 x102 «30 18,072 0 18,072
206 = Hl 37,800 0 37,800
01 M= dl 37,800 0 37,800
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401 A& HIZ 201 I 50,000 0 50,000
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OLA=XE St & I AL 50,000 0 50,000
HY2AZ Y () 181,854 147,008 34,846
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01 2= 76,715 68,662 8,053
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